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I(I6)m‘70cm — 60cm = |6m30cm grlri?aOcm — Im = 6m30cm
I(22)m33cm +3m = |b5m33cm gé)cm + 8m4cm = 8m'/2cm
I(36)m40¢m + b5cm = |6m45cm g?ri + | Im4b5cm = [6m45cm
I(L'L7)m3‘7¢m —bm = 12m39cm (Ilg)m'75cm — 2lcm= |3mb4cm
2%)cm + 2m30cm = Z2m50cm (II?)méOcm —7m = 4m60cm
5((;3150cm + 10cm = 5m60cm gfn)QOcm — 40cm = 5m50cm
'7(7I)cm + I Imlbcm = | Im86cm (Ilg))m'70cm —3m = 7m70cm
2(?1 + 2m30cm = 4m30cm gfn)é&:m + 2cm = 7m70cm
3((::1 + 4m57cm = Tmb57cm (BI:riécm + 4m = 7mbcm
‘(SIrcr)l)QOcm + 7m = 12m90cm g?riSOcm — 70cm = 9m|0Ocm
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